C:# Comparing Approximate Measurement with Chartsand Tables Name:
Solve each problem.

1) Compare the approximate speed per hour of Boat A to Boat B.
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2) Compare the approximate speed of Biker 1 to Biker 2.
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ﬂh Comparing Approximate Measurement with Chartsand Tables Name:

Answer Key

Solve each problem.

1) Compare the approximate speed per hour of Boat A to Boat B.

R Boat B
Boat A > 45 .
= 40
Time Distance é’ a5
(Hours) Travelled =
(knots) 8 30 °
1 1 2 5 *
> 5 |q:J 20 ®
3 7 g Lr—,
7 23 g 10
o 5
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v
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Time (Hours)

12+19+25+28+41 = 125 total knots
2+4+5+6+9 = 26 total hours
125+26=4.8

-1+5+7+23+33 = 67 total knots
14+2+3+7+9 = 22 total hours
67+22=3.0

2) Compare the approximate speed of Biker 1 to Biker 2.

Biker 2
V'
140
Biker 1 i
: - = 120
Time Distance £
(Hours) | Biked (km) =1 100 .
4
1 18 < 80
2 34 % 60 .
3 49 B 40 e
5 78 a .
9 138 20

v

2 3 4 6 9
Time (Hours)

27+43+57+88+132 = 347 total km
2+3+4+6+9 = 24 total hours
34724 =145

18+34+49+78+138 = 317 total km
1+2+3+5+9 = 20 total hours
317+20=15.9
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